

TOPLAMA VE ÇIKARMA İŞLEMLERİ ARASINDAKİ İLİŞKİ

$6 + 3 = \dots$
$\dots + 3 = 9 \rightarrow \dots - \dots = \dots$
$6 + \dots = 9 \rightarrow \dots - \dots = \dots$

$5 + 2 = \dots$
$\dots + 2 = 7 \rightarrow \dots - \dots = \dots$
$5 + \dots = 7 \rightarrow \dots - \dots = \dots$

$8 - 5 = \dots$
$\dots - 5 = 3 \rightarrow \dots + \dots = \dots$
$8 - \dots = 3 \rightarrow \dots - \dots = \dots$

$9 - 2 = \dots$
$\dots - 2 = 7 \rightarrow \dots + \dots = \dots$
$9 - \dots = 7 \rightarrow \dots - \dots = \dots$

$7 + 5 = \dots$
$\dots + 5 = 12 \rightarrow \dots - \dots = \dots$
$7 + \dots = 12 \rightarrow \dots - \dots = \dots$

$10 - 4 = \dots$
$\dots - 4 = 6 \rightarrow \dots + \dots = \dots$
$10 - \dots = 6 \rightarrow \dots - \dots = \dots$

$12 - 9 = \dots$
$\dots - 9 = 3 \rightarrow \dots + \dots = \dots$
$12 - \dots = 3 \rightarrow \dots - \dots = \dots$

$11 + 4 = \dots$
$\dots + 4 = 15 \rightarrow \dots - \dots = \dots$
$11 + \dots = 15 \rightarrow \dots - \dots = \dots$

$12 - 9 = \dots$
$\dots - 9 = 3 \rightarrow \dots + \dots = \dots$
$12 - \dots = 3 \rightarrow \dots - \dots = \dots$

$13 + 5 = \dots$
$\dots + 5 = 18 \rightarrow \dots - \dots = \dots$
$13 + \dots = 18 \rightarrow \dots - \dots = \dots$